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I ymwn: five colors that are considered xnv 7
a  (note: assumption of MY 01, based on v. 1 — 01y BT pPa means RNV DTY NNV DT 1°1; discussion re: DY [vv. 2-4])
b Colors: red, black, like bright crocus, like earthy water, like diluted wine
i Red: perv.5; expand to 4 colors via mn1+nnT (vv. 6-7); black is just red that has darkened (supporting xn»2)
¢ w”r also a color like fenugreek (a leek) water, and like gravy of roasted meat (n”a — declare these n1nv)
i Challenge: don’t w"a accept nnT+nT=4?
1 Answerl: indeed, they reject nwa7
2 Answer2: they do — but just as black is “red gone bad”, so too, 1nn ’n is a pervsersion of another color
ii  Question: how do n”a differ from p”n (who didn’t count inYn m)?
1 Answer: p'n would consider inn » to be pav (=»1>1n); whereas n”a consider it unquestionably 11nv
SN557 12 K2apy. green is also Rnv (g: doesn’t he accept nT+nnT? answers: same as for v”a above)
e  opom declare it to be 191 (: how do they differ from p”n? a: same as for n”a above — mYnY)
i p7rifitisn’t Rnon as oy, at least it is NpwWn DIWN 8NVN (discussion below as to his meaning)
ii  »p» /7. it counts for neither (note: this is same position as p”n; identifying p"n as »o1 7)
1 pnr /7 explains what n”1 was arguing and how 1121 (*o0v "7) responded
(a) Takel: n™ took 5RY5nn 12 R2apy’s position — not Xnvn as ond, but if she had n»R9, she is nrnNo
(i) Block: if so, he should have argued nxry1 DwIN RNVN
(b) Take2: if she isn’t Xnvn as N if she first saw green; if she first sees red, then sees p17>- NRNY, just as a1 NpYN
(i) 37 21 npwn (e.g. spit) balls up before coming up)
1. Note: this is a good response; not likely that n™ argued thus
(c) Take3: if she isn’t Xnvn as N, at least 07 should count as a liquid for myar 2wan
(i) 27 requires wYon 0T (v. 8)
1. Note: this is a good response; not likely that n™ argued this either
(d) Take4: he argued that we should infer it to be valid o7 via w1 (vv. 9-10)
(i) 237 a person may not identify w1 on his own (must have a n1on)
II 1 mwn: definition of 5 colors (remainder of 1 Mwn, with definitions of colors #2-5, to follow on p. 15)
a  Red:like a wound
i Snmpw: as blood of a slaughtered ox (not “no'nw v1”, rather as it first spurts out)
ii a5 like n Max 07 (unclear if he means “alive” or “strong”)
iii ~ »72pr like blood of head-lice
1 Challenge: if she killed a louse, that may explain the ona (and she is n7110)
2 Answer: this only refers to head-lice
iv. 17an 7 like a finger wound that healed and was reopened — only a young man (‘til 20) who was never married
1 Challenge: she may presume that ona 07T came from her son or husband - but how could this color be her 9va?
2 Answer: if they went to nomn but didn’t yet consummate
v 77 like 07 of blood-letting
vi  Challenge (o all of these): n™ and 21 assumed that red rouge or sap of sycamore were cause of coloration (nn3)
1 Isn’t this: a variation of red? (= D11R could be any of these shades)
2 Rejection: they were seeing it as one of the other colors
vii Story: blood-letter showed anmR first vial of blood and he identified it as DyT® of our nwn — but identified 2"d as different
1 »wx "7 couldn’t tell difference, excused himself from examining o7
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